Polaris RZR XP 900 CV Boot Guards (Fits 2011)
P/N: 11080

Includes:

1. (2) Front CV Boot Guards (LH &
RH)

(4) Special Size 17 Clamp

(2) 1/4-20x2-1/4 Flange hd Bolt
(4) 1/4-20x3/4” Flange hd Bolt
(6) 1/4-20 Nylon Nuts

(6) 1/4 Flat Washers

ARl

Installation:

Front

1. Remove the stock plastic guards.
These are the flat plastic parts at-
tached with two torx bolts. Save
the bolts.

2. Install the guards with the two stock
torx bolts. Do not tighten yet.

3. Attach the wide end with the
clamps provided. You will use two
clamps per side. The clamp will go
on the inside of the guard (see pic-
ture). The bolts will go up through
from the bottom. Do not tighten
yet.

4. The long bolt will go up through
the outer end and into the cross
tube. You can see the hole in the
cross tube if you look down from
inside. The nut will go on the top.

5. Tighten all the hardware and repeat
the process for the other side.




